XYZy,=97.28 , 99.99, 116.14

Ag=25 by~ a9 Vi
B1p =258, (b= by Yo
31 30 (X9 =%:) d

by bm[Zm/ Yid
3=1 by=-04

X, =0, 000v B, = 1,000
Coana A 2+B, 317
6 OslwaIdFarben (o)

Parameter:

Y10& Name
Lichtart COO
Yiag=100 Yy 16710

von (M)Cyggoim |

Buntwertdiagramm (A, B, ~100

Lichiart €00, %100 Y10 |
Name Berech X,y Yoy 7,170 2H4GO.
o vrs o iy 1% 8t Baria w0 4G
V4867775 7076 915 17.25 04231 04853567 461
G, 486 561 24.84 55.42 17.25 0.2547 0.5683 530 530c
€ 300561 42.37 6393 116.15.0.1904 02673 481 593
57 3007486 27.36 186 11063 0.1747 01183 461 567
M, 561.486 82.26 5468 11063 0.3323 0.2208 5300530
W, 380775 97.28 99.99 1161403103 0319 100%
NJ300775 072 999 1161 03103 0318 10%

2 380,775 1751 180 209 03103 0319 18%
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